/Name d_\_, Date: % = CG\\OLA,\O\/-\-DY
Alloweo! L

Unit 7 Test Review

. . What values for 0 (0 <0 < 27) satisfy the equation?
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5444 0so(zsmS £ =D ;
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What is the area of AABC to the nearest tenth of a square meter"
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b. 933 in2 ¢ 200in2 d. 169.0in2
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Name:

Use the Law of Sines to find the missing side of the triangle.
e LB 2

AAS

;@ A 5. Findb.
SINEY _ S_l\n LEy®

o =

S0 =

1o ST S = 50 § TP
’;—%\& Sl\r\w

~a. 70.1 . 438 c. 57.1 d 315
% i ’2 6. Find the measure of AB given mZA4 =155° mZB=44° and b = 68. ; \@0 ,O\O\ro
a, c. 88.19 Wk o = A®
~ 96.68 d. 8L12 - .\
Use the Law of Sines to find the missing angle of the triangle. (.0? C
4_ _QZ 7. Find m£B to the nearest tenth. i o
A S~ l & - S CZ\

we S~ 1

T svue = WEsm 3B
oS < N

B 74

a. 24.6° - b. 76.3° c. 65.7° d. 1554°
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ID: A

Use the Law of Cosines to solve the problem.

. On a baseball field, the pitcher’s mound is 60.5 feet from home plate. During practice, a batter hits a ball 216
feet deep. The path of the ball makes a 34° angle with the line connecting the pitcher and the catcher, to the
right of the pitcher’s mound. An outfielder catches the ball and throws it to the pitcher. How far does the

outfielder throw the ball?

L,O‘\N ot CASINLS
L2 o

ﬁ‘ m W2 2 (09 (210)co SC34°)

Pitcheds ,~
Mound ,*
O

Catcher
a 2074 b 22431 d. 19878

5% _& 9. In AFGH g=8ft, h 134 .ZF 72° Find mZG. Round your answer to the nearest tenth.
a. 26.2° c. 12.1% d. 32.5° _

| ¥ Law of CoSivies X2 *¥ @ Bival £.@ Gnd. G,

Q_ 10. Which expression completes the trigonometric identity?
4
L _pgl= 2
w2 -0
~a —cos@ b. sin 6 c. secf @
Use a half-angle identity to find the exact e tri onometnc expression. 7
QLT ( |g€' 1 a—-ODS(l?S‘) . 2.1 - 2" /7'
,4—&_ 11. cos67.5° = CAS

3N 2 4z
@ /9—@ ot d-———*’@J 0 (75
AL 7] ST
¥ 12. Givencos 6 = —and0° @ < 90°, find the exact value o sm—z- = @_
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Solve each triangle. Round your answers to the nearest tenth.

i) 13) InACAB, b=24.8m, a=11.7m, m£C =31.9°

ERE 9, - EhE 1255°, ¢ lol m ®

/
% 14') InAQRP,r=21.4in, p=16.2in, m£Q=97.5°
LREUTT, LP=34.3° 4=2TSin
A’ 15) InASTR, t =26 cm, r=20cm, msS = 124°

LR ERE LRTYE, . SEH0 =N

% 16) InARPQ, m/R=483°, p=27cm, g=26cm

2 Prug . £62EES, T & | o

# 17) InABCA, m£B=24° a=25in,b=15in

£ 18) InORST, m2R =43°,1=35 cm, r=32 em N
A=\ LCE IR LATHLT

C2RAANLT VLS = &F LT=982) 5 ~y0,
2@, LCERC, LAZIRN.3%, CENTIASFL L5252 (T=R\.& 5 =43

;4_ 19) InAEFD,ms£D =28°d=27in, f=7in % 20) InAQRP, m£Q=80° p=35in,¢g=321in e
LU‘:“_PS"I LF—‘:_"IO’Q:??;V\ NU’\- (7.8 TY]‘D\V\Dé{L
Usea dqubie-angle or half-angle identity to ﬁ'nd thé exact value of each expression.
21) sin15° = S (45® - Zo°) 22) sin120° = SpA (26O
(o ~=Z | (Z
0 | g
’ °
23) sin 112—° =Sm (7‘?'5‘ \ ' 24) sm— S - m(qgv\
m -' R Q
y'
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25) sm-— = S (oY) 8 ki (22‘3"\
_‘f__
(o

g | g =k
27) sin @ == and 0 n a3 3n

| P c‘<¢9<2 . | 28) sin f = 5and1t<9<2 : Z

Find cos 26

N | W)

sy Q- 1 Find sin 26, Gl"\:ﬂ"
= =R i | ‘_% ;'ZS]Y\QWSBV
=2 (318" ‘3 =2 (BsXHS) {5
A 29 cos 0=——2and E< g <n 30) cose_—iand90°<a<180°,
Ml . 5
Find sing e - Find tan 26 ,
= 72 4ouwP
| - 09
2 L e .{—p\m?'e
- (=S = 2 (-3
C o - Rl
31) sin 0= and 90° < 0 < 180° , Bio 32) s1n9——anq0°<9<90°, ! _/_‘!g
%“tg Find,cos 29, QT ’_‘ Find tan 26’ ;
(B = 2 (319 1
1 -C3{uy-

Find the area of each triangle to the nearest tenth. You may need to find some mlssmg

dimensions first!
’" 134 A
4.7 mi 6 mi 3
E .

), SO Cg Ut #
o £ D 7 mi

4 mi\\
93° .
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Solve each equation fo

36) 0=csc? g+ 2cot & 37) 2sin 6 + sin fsec § =0
O= 1+cotO +2 kO ' SMO(2L + 5 c8)=D a
0= X +200¥8 +\ X I Sw\G—«')b/ .
0= (x + NLx+D Hi - 22056 =21\
o L N\Z -
(ofaioriy ~cote 2| =W eose= -k
38) —3sin @ - sin Gcos & = —2sin @ ‘ 39) 3 + csc 8 = csc? 9+1

YK E2y=0

_ | Bax= xS ome=L
A il e~ 20 81t X%y 220 -
“y (A + XY =0 SHREY o ik ‘

-SIB820 \ + oS/ =0 (X -2 x+=D=0 |sno=-|.

™~

80 cR$0=— ( S ib=—\
40) tan 6 +1=2tan ¢ 41) sec’ 043 =
“'2X +\ =19 ( Sec*O =%
(xf-\\(x—-\\—ao _ See®=E2
JGEou®5 =N\ Efp - ( CoS6 = XV
S =) htabil - S z 2
42) —sec? 6+1=-1 v ‘ 43) cos? @ +3=—-2cos 6 +2
~Yonp=e =\ 2 X=+ZT=2x +2 -
o 2k . r\ =0
~bwto I o fawon e\ ©E T
“irranW8E ko ( 0SS = ~\ .
Find the exact value of each. Make your life easier!! Search for the identities being used!
170 4n 177, 4n 45) cos 57¢0s 3% sin 578iw3°
% 44) sm—c18 e ST smT . .

T (eI~ ] cos (571°4-3°Y
sin(EE- ny cof (o) =

=Sy =

£ 5 " f L
tan 36 tan 144° -
46) 1 — tan 36tan 144° : fan 9 S 18
: - 4T
l+ta.n—7rrta.nl
(P Ly 9 18
=t (1900 | o Loge ~22 )
= @ tan CVIv ) =
5t om St m  49) sin 124%0s 116% cos 1248in 116°
% 48) sin ~-cos =~ cos sin -5
- St (249 1\ Q
s (3 = s ) sn(Z40°) -

=S (M) -:_m :
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